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1- "Each question has four possible answers, Tick ( V ) the correct answer. (15)
MS - Access

i Which of the following database object is used to present data of database in a

formatted way?

i [A] Form | B] Report | C] Table | D] Query

! Which query is used to add records from one table to the end of another table?

| A Convert B| Delete query |[C Append D| Move query

query query

iii ;| Which of the following data model is more flexible?

A | NetworkData | B Relational C | Hierarchical [ D| Object Data

Model Data Model Data Model odel
iv_ | Who is responsible for the entire data of an organization?
A Data base | B Network C Data D Computer
Administrator Administrator Administrator Administrator

v | Which of the following activities is not involved in data analysis while
designing a database?

A | DataFlow [B ~ Entity C Decision D | Decision Trees
Diagrams Rel_atlonshlp Tables
Diagrams

vi__| Different attributes in two different tables having same name are referred to as;

A | Homonym |B| Synonym [C| Acronym |[D| Antonym
C-Language OR Visual Basic

C-Language

| _vii_. Function prototype for built in functions are specified in;

' . A | Header File [B] “SourceFile | C| ObjectFile | D| Control File
viii_ | How many parameters are passed in fopen( ) function?

A | 1 | B] 2 C] 3 | D] 4

ix | The process of converting source code into object code is known as;

A ] Loading [B] Executing [C| Linking |[D| Compiling
X | Which of the following starts with #in.C programs?

A | Preprocessor | B Comments Ci Keywords | D Functions

Directives
xi_ | The equivalent statement of A = A — C is;
Al -=C [|B] A=-C | C] A=C | D] =--C
xii | The result of expression 12/4*2 will be equal to;
A 1.5 [B] 6.0 [ C] 2 [D] 6

xiii_| The function getche() is defined in;
Al Stdio.h [B] Conio.h [|C] Stringh [D] Math.h
xiv_ | Which of the following operator in C is called a ternary operator?

Al && [B] ++ [ C] T [D] %
xv | What will be the final value of x after executing the following code?
\ for(intx=0;x Z=3;x++)
A | 0 | B ] I [C] 6 [D] 5
OR _ Visual Basic
vii_| Which of the following is false if x and y are equal?
A | x<y [B] X>=y Cl _y>=x_[D] X=y
vili_ [ If no of iterations are known in advance, the suttable programming structure is;

A | While-Wend [B] For—Next [C] Do—UntlFI%p D rbo—Wlﬁle-—Iﬁp
ix | The process of converting source code into object code is known as;
Al Loading [B] Executing [C] Linking [D[ Compiling

i

x__| Which of the following is not a high level language?
A | Assembly [B Pascal C BASIC D|{ FORTRAN
language
xi | Visual Basic is a product of;
A ] Microsoft [B] IBM ['C] SunSystem [D] Hewlett
! xil_; The result of expression 12/4*2 will be equal to;
! Al 1.5 B 6.0 [C] 2 [ D] 6
 xiii_| Which event detects the pressing of standard displayable characters?
A] KeyDown 'B] KevPress [C] KeyUp [D[ KeyMove
xiv_| The expression 10 Mod 3 has a value equal to;

| B] 10 [ C] 1 D] 9
xv_ | Which of the following is a valid VB data type?
Al char | B int 1C] float | D] boolean

(The End)
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